EARAROBREBRT —5 XN—ZXBISH—F 2023108158 (B) 158&R18

El w0 | 20, BESHTESER YRR (xR R | Emw - | 7 50 =
[xE%] 15 :400,000H  23%&:128,000H  3#&:64,000 M  43%&:48,000H 5 3&:40,000H
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
W R 4 3 | ERESLB 1:34.6 1-1-1-1 [38.4| - 2 a6 | EH—E (&R
1 2 /|<J_|\2>(U_7 P 54.0 ) “10) | B SWITP—L
RIL—IZZRSIL BiAVTI—L i)
217] 9| NBAYY 43 ﬁ*ﬂgﬁ% 1:(35).3 7-5-5-4 |38.0| — 5 | 540 g%ﬁ A(ﬁiR)
o 3 =
A :Runhappy & :Elarose (+4) Chiyoda Farm
3l5|5| 7T/v220—V H o3| peERt 1(:13/52.)4 4342 (388 — | 4 | 52 %‘;ﬁg g(ﬁiR)
QT RUAYRARUFY N BiFUEAHTS O | X
S o7 | REA 1:35.8 3-4-2-3 |39.4| - 3 | 487 | NEEHE (&R
a6 11/L0> %.0 o wn | @ Fr=2hevay
RIZAVITRA—T7—R—R §:IULYYTUT o BeE
sy 3| T ASFPIYRZ 3| gREA 1(:35.)9 22-3-5 [39.5| — | 1 | 465 gEEE—B% &R
= . A= | R
R:FI/IVITYR BTZITFRIY Q) sO%S
3o = r # 5 | SHRES 1:38.6 5-6-6-6 | 40.0 | — 7 448 | SBAREH &R
o Fi=rozy— 54.0 515 e
Ri7ROVIvI B:SAIVIRIRAN A0 40T T 4—)L RS
v s o6 | NEAS 1:38.8 10-10-8-8 | 38.4| — 6 | 426 |MEEFDE (&R
7 (810 FAX—TY e 25070 G/ i | @ Ir-2kevay
RiW—=5—vvF BEYIR=5Y XE RS
S s 3 | BURTF 1:39.3 6-7-7-7 | 40.0| — 9 | 40 |EBEmRE &R
EH 7 xzr“{aaz;{/? 56.0 @172 4 | (®_JPNEFF
RND B:RAT1T4T7Y " s
— 4 6 | BRERKHE 1:39.3 8-8-8-9 [39.1| -— 11 | 430 [JIEARBESL (&R)
978 71:(7‘9D e e 6.0 (oe) © |HuEE
RIN—ANR BV INZ—H—) TIITHIS
001011 mo9 €2 8 3 ﬁl%jcﬁ] 1:21(;.9 9-9-10-10 | 40.3 | — 8 | 420 EE@% &R
. 8 L —
R:ILEBALITVR B:IA48AFT4T LR =1 IH XF
1 4| ¥TFOVII 44 éﬁ%{%ﬁm\ 1:611).6 11-11-11-11/ 40.0 | — | 10 | 448 }@E@r:g &R
. 3 | Rz I
RiOAYNUPIFY B:RYUTYILT 4 O | sz
@ 1—F—&RIEL
13—7— 2,3,6,5,11,7,9,8,1,10,4
230—F— 2,3,5,6,9,11,7,8,1,10,4
30—7— 2,6,3,5,9,11,7,(8,10),1,4
43—F— 2,5,6,9,3,11,7,10,8,1,4
0 ILRE
BB 2 270M4 JA R 2-9 3504 e B 2-7 900/ 3EE 2-5-9 970/
B B 2 120/ 2-5 2004 (=1 2-7 1,320 3EH PaOzb 3,180M
9 190M9 5-9 4504 5 & 2-9 710
5 160M =51 2-9 1,520

ABIC OV TRUTEREERRODDZE. THRIIZEL.



